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Note : (i) All questions are compulsory.  

 (ii) All questions carry equal weightage. 

1. Answer the following question in about  

600 words : 

Define e-Learning. Discuss the 

communication technologies used in e-

Learning. 

Or 

Explain the modes of using various ICTs in 

teaching-learning environments. 
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2. Answer the following question in about  

600 words :  

What is the meaning of mobile ? Discuss the 

uses of mobile in education.  

Or 

Define simulation. Discuss the use of 

simulation in education by citing suitable 

examples.  

3. Answer any four of the following in about 

150 words each :  

(a) Types of teleconferencing 

(b) Implications of behaviourism for using 

ICTs in education 

(c) OER repositories 

(d) Types of multimedia 

(e) Technological Pedagogical Content 

Knowledge (TPACK) framework 

(f) Application of ICTs in educational 

management. 
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4. Answer the following question in about  

600 words : 

Select a topic of your choice. Explain with 

examples, how will you use ICTs for 

teaching the same.  
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 BESE–135 

f'k{kk esa Lukrd 

(ch- ,M-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-,l-bZ-&135 % lwpuk ,oa lapkj izkS|ksfxdh 

le; % 3 ?k.Vs   vf/kdre Hkkfjrk % 70%  

uksV % (i) lHkh iz'u vfuok;Z gSaA 

 (ii) lHkh iz'uksa dh Hkkfjrk leku gSA  

1- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

bZ&vf/kxe dks ifjHkkf"kr dhft,A bZ&vf/kxe esa iz;ksx dh 

tkus okyh lapkj izkS|ksfxfd;ksa dh ifjppkZ dhft,A 

vFkok 

f'k{k.k&vf/kxe okrkoj.kksa dh fofo/k lwpuk ,oa lapkj 

izkS|ksfxfd;ksa (ICTs) ds iz;ksx djus dh fof/k;ksa dh 

O;k[;k dhft,A 
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2- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, %  

lpy (eksckby) dk D;k vFkZ gS \ f'k{kk esa lpy 

(eksckby) ds iz;ksxksa dh ifjppkZ dhft,A 

vFkok 

vuq:i.k (fleqys'ku) dks ifjHkkf"kr dhft,A f'k{kk esa 

vuq:i.k ds iz;ksx dh mi;qDr mnkgj.k nsrs gq, ifjppkZ 

dhft,A 

3- fuEufyf[kr esa ls fdUgha pkj ds mÙkj yxHkx  

150 'kCnksa (izR;sd) esa nhft, % 

(d) VsyhdkWUÝsaflax ds izdkj  

([k) f'k{kk esa lwpuk ,oa lapkj izkS|ksfxfd;ksa (ICTs) ds 

iz;ksx ds fy, O;ogkjokn ds fufgrkFkZ  

(x) vks- bZ- vkj- Hk.Mkj@laxzg (vks- bZ- vkj- 

fjiksftVjht) 

(?k) cgqek/;e (eYVhehfM;k) ds izdkj  
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(³) izkS|ksfxdh; f'k{kk'kkL=h; fo"k;oLrq Kku  

(Vh- ih- ,- lh- ds-) <k¡pk@rduhdh] 'kS{kf.kd vkSj 

lkexzh Kku (Vh- ih- ,- lh- ds-) <k¡pk (ÝseodZ) 

(p) 'kSf{kd izcU/ku esa lwpuk ,oa lapkj izkS|ksfxfd;ksa 

(ICTs) ds vuqiz;ksx 

4- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

viuh ilUn ds ,d 'kh"kZd dk p;u dhft,A mls i<+kus 

ds fy, vki lwpuk ,oa lapkj izkS|ksfxfd;ksa (ICTs) dk 

iz;ksx fdl izdkj djsaxs] lksnkgj.k O;k[;k dhft,A 

× × × × × 

 

 

 

 

 

 

 


